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1ol A4 444,262 392,725 51,537
1. 080 EW 3] A o] A=) 444,262 392,725 51,537
1. 2 SHEE S AAY T 444,262 392,725 51,537
1.8 03 AAYF 444 262| 392,725 51,537
- w7 ELadn) (%) 2] al
18tmeedn g2 914.126) 207,642 6,484 T/ EBUI(E) 1 (178,645,00091 > 1u) o a0 040
- 172,157,0009 =
7] B H] (F) © (35,481,0009 < 1al) - _4.000
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Z WA FEAFX ] 9 x 11
2. BAANGH AL F 230,136| 185,083 45,053 Ee A A ) ¢ (5,640,9308 % 1) 1,768,000
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Wyt Est g ¢ (10,200,000 X 1a) - 3 000000
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(RN A AARI AN (4 ] 866.000
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(AR Z25ETAEY 1 (40,000,000 X 10.000.000
11l) - 30,000,000 = T
(ARAAEAG LG ¢ (7,925,0009 X 13 9 717 000
) - 5,208,0009 = Y
(AHAANA#H LY (15,202,000 X 1 7 977 000
) - 7,925,0009 = Y
FE AR LH] 0 (7,200,0009 X 13) - 9. 400000
4,800,0009 = T
g AAH] ¢ (8,640,0009 X 1al) - 9 880000
5,760,000 = T
ELuSg 8A9 ¢ (1,000,000 x 1u) -
= T AT
e -200,000
1,200,000 =
EFUH A A (428,000 X 13 9203000
) - 225,0009 = '
EslgualEal w9 ¢ (880,0009 < 13)
=T =11 o T = 0 gl
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- 480,0009 =
FALE71H3 719 1 200,000 X 13 = 200,000
2. A A 54 147,743| 114,823 32,920
1.3 51 B g2=9) 147,013| 114,093 32,920
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1,524 52,844 52,844 0
2. a2 929 929 0
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RAEAEEL ALY 10,000,0009= 10,000,000
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3.7 2 21,120 21,120 0
1572 77 H| 21,120 21,120 0
2. 93554 730 730 0
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1.o] A4 400 400 0
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27181885+ 330 330 0
1.7l A B E 59 330 330 0
3. 71859 12,351 12,351 0
1. Adxo| g 12,351 12,351 0
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of A %733 (9] - HY)
e G I B RECERCY
AL AL Ca e P PR I B e e M s

1.AX2 4 =& 32,554/ 18,146 14,408
1.718F A ARG 31,054 16,646 14,408
1. aA A9 70 31,054| 16,646 14,408
1.7]17FA AF 21714 27,331 12,923 14,408

1.717F A A1 7 1] 27,331 12,923 14,408 Sﬂg?”mxﬂm} AdH) 13,542,004 13,542,000

égi%%gﬁ:ﬁ:v} AN (4T 5. 9) 866,000
2. 71 A Y AZ g (5H) 3,723 3,723 0
1. 7127l 117 1] 3,723 3,723 0
2. wAY Bz 2 A7)z} 1,500 1,500 0
1. gdAS 1,500 1,500 0
1. A& A 1,500 1,500 0
1.091] 1,500 1,500 0
2. A B /AR H i 172,383  152,132| 20,251
1.5 #e 64,544 64,544 0
1.3t 29 64,544 64,544 0
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2. w2 929 929 0
1.-fro= 929 929 0
3.3 g A 7] 0] (53] 7,340 7,340 0
LHE A 7,340 7,340 0
4. 23R -FsFFE TFAEA) 0 0 0
1.34g4 A 5] 0 0 0
5.9 2% 6,577 6,577 0
171 A k4 4171 0) 300 300 0
2.4 Rkg1) 3,209 3,209 0
3.98H] 3,068 3,068 0
2.83.7 e 7,558 7,525 33
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2. 371478 505 505 0
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1.8 A E 2] 1| 42,000, 32,000 10,000 yEFaLAEIA 10,000,000 10,000,000
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3. g R A 15,840 10,560 5,280
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3. A YA 170 0 170
1.8 8-]1) 170 0 170 | A FFu] (54) 170,000 X 13]= 170,000
371523 w&dF 94,175/ 93,667 508
1.w3 &5 78,493 78,525 -32
1. 2785 9 21,915 21,350 565
1. 2457 1,000 1,000 0
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2.7)1238E A %= 2,490 2,490 0
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2. M5 330 330 0
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4. (BE)GHEFHEA 2,125 1,560 565
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2. 0% 900 900 0
3. EH ALY -7 100 100 0
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1. 052 H] 200 200 0
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%7333) () A9
i NI IR 42712 (Q)
B e L A R N s

2. &9 110 110 0
FALH &+ 17,184 14,234 2,950
1L.YEHED 3,800 1,300 2,500
1S 3,800 1,300 2,500
1. 05890 1,300 1,300 0

2. 03] 2,500 0 2,500 W&y 9 2,500,0009 X 1= 2,500,000
2.7 B3l - 13,384 12,934 450
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1. YR 2,954 2,504 4504 K.3}7]7] $=2]v] 15,0009 X 30t)= 450,000
2. 052G 1,730 1,730 0
3.8]F 50 8,700 8,700 0
Foiz A 8,000 6,000 2,000
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ES 800,000 X 14]= 800,000
2] 9] &% 1] 300 300 0
3,023 3,023 0
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